



Evaluate

$$\begin{vmatrix} 1 & 2 & 3 \\ -2 & 4 & 5 \\ 0 & 1 & 6 \end{vmatrix} = 1 \begin{vmatrix} 4 & 5 \\ -2 & 6 \end{vmatrix} + 3 \begin{vmatrix} 2 & 4 \\ 0 & 1 \end{vmatrix}$$

$$= 1(4.6 - 1.5) - 2(-2.6 - 0.5) + 3(-2.1 - 0.4)$$

$$= 1(24 - 5) - 2(-12 - 0) + 3(-2 - 0)$$

$$= 19 + 24 - 6 = 43 - 6 = \boxed{37}$$

Evaluate
Awarys

$$= 2 \begin{bmatrix} 2 & -3 \\ 1 & 5 \\ 3 & 2 \end{bmatrix}$$

 $= 2 \begin{bmatrix} -2 \\ 2 \end{bmatrix} = (-3) \begin{bmatrix} 2 \\ 3 & 2 \end{bmatrix} + 4 \begin{bmatrix} 3 & 5 \\ 3 & 2 \end{bmatrix}$
 $= 2(5 \cdot 2 - 2 \cdot 5) + 3(1 \cdot 2 - 3(-2)) + 4(1 \cdot 2 - 3 \cdot 5)$
 $= 2(10 + 4) + 3(2 + 6) + 4(2 - 15)$
 $= 2(14) + 3(8) + 4(-13)$
 $= 28 + 24 - 52 = 52 - 52 = 0$

Evaluate

$$\begin{vmatrix} 2 & -5 & -4 \\ 0 & -3 & 7 \\ 0 & 0 & 5 \end{vmatrix} = 2 \begin{vmatrix} -3 & 7 \\ 0 & 5 \end{vmatrix} = -(-5) \begin{vmatrix} 0 & 7 \\ 0 & 5 \end{vmatrix} + (-4) \begin{vmatrix} 0 & -3 \\ 0 & 5 \end{vmatrix}$$

 $= 2(-3.5 - 0.7) + 5(0.5 - 0.7) - 4(0.0 - 0.63)$
 $= 2(-15) + 5(0) - 4(0)$
 $= -30 + 0 - 0 = -30$

Cramer's Rule Sor Solving System of
linear equations with 3 unknowns
and 3 equations.

$$\begin{pmatrix} x + 2y - z = -4 & x = \frac{Dx}{D} \\ x + 4y - 2z = -6 & y = \frac{Dy}{D} \\ 2x + 3y + z = 3 \\ Huarys & z = \frac{Dz}{D} \end{pmatrix} D \neq 0$$

 $D = \begin{vmatrix} 1 & 2 & -1 \\ 1 & 4 & -1 \\ 2 & 3 & 1 \end{vmatrix} = 1\begin{vmatrix} 4 & -2 \\ 3 & 1\end{vmatrix} = 2\begin{vmatrix} 1 & -2 \\ 2 & 1\end{vmatrix} + (-1)\begin{vmatrix} 1 & 4 \\ 2 & 3\end{vmatrix}$
 $= 1(4-(4))-2(1-(4))-1(3-8)$
 $= 1\cdot10 - 2\cdot5 - 1\cdot(-5) = [5]$
 $D_{z} = \begin{vmatrix} 1 & 4 & -1 \\ 2 & 3 & 1 \end{vmatrix} = 1\begin{vmatrix} 4 & -6 \\ 3 & 3\end{vmatrix} = 2\begin{vmatrix} 2 & 1 & -6 \\ 2 & 3\end{vmatrix} + (-4)\begin{vmatrix} 2 & 4 & -1 \\ 2 & 3 \\ -1(2-(78)) - 2(3-(12)) - 4(3-8) \end{vmatrix}$
 $= 30 - 30 + 20 = [20]$
 $Z = \frac{Dz}{D} = \frac{20}{5} = 4$
 $Z = \frac{Dz}{D} = \frac{20}{5} = 4$

Use Cramer's rule to Solve Sor Y only:

$$\begin{cases}
3x -2y + z = 10 \\
2x +3y -z = -9 \\
x +4y +3z = 2
\end{cases}$$
Hways

$$D = \begin{cases}
3 -2 & 1 \\
2 & 3 -1 = 3 \\
4 & 3 \\
-2 & 1 \\
1 & 4 & 3
\end{cases}$$
Hways

$$D = \begin{cases}
2 -1 \\
2 & 3 -1 = 3 \\
4 & 3 \\
-2 & 1 \\
1 & 4 & 3
\end{cases}$$

$$= 3(9 + 4) + 2(6 + 1) + 1(8 - 3) \\
= 3(13) + 2(7) + 1(5) \\
= 39 + 14 + 5 = 58 \\
Dy = \begin{cases}
3 & 10 \\
2 & -9 \\
1 & 2 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\
-2 & 3 \\$$

The Sum of 3 numbers is 6.
Twice the first one plus the second one
is 4.
The difference of first and third is -2.
Use Cramer's rule to find the first one
only.

$$\begin{array}{c} x + y + z = 6 \\ 2x + y \\ x - z = -2 \end{array}$$

D= $\begin{array}{c} 1 \\ 2 \\ 1 \\ 1 \end{array}$ = $\begin{array}{c} 1 \\ -1 \\ -1 \\ -1 \end{array}$ = $\begin{array}{c} 1 \\ -1 \\ -1 \\ -1 \end{array}$ = $\begin{array}{c} 0 \\ -1 \\ -1 \end{array}$ + $\begin{array}{c} 1 \\ -1 \\ -1 \end{array}$ = $\begin{array}{c} 1 \\ -1 \\ -1 \end{array}$ = $\begin{array}{c} 1 \\ -1 \\ -1 \end{array}$ = $\begin{array}{c} 0 \\ -1 \\ -1 \end{array}$ = $\begin{array}{c} 1 \\ -1 \\ -1 \end{array}$ = $\begin{array}{c} 0 \\ -1 \\ -1 \end{array}$ = $\begin{array}{c} 1 \\ -1 \\ -1 \end{array}$ = $\begin{array}{c} 0 \\ -1 \\ -1 \end{array}$ = $\begin{array}{c} 1 \\ -1 \\ -1 \end{array}$ = $\begin{array}{c} 0 \end{array}$ = $\begin{array}{c} 0 \\ -1 \end{array}$ = $\begin{array}{c} 0 \end{array}$ = 0 \end{array} = $\begin{array}{c} 0 \end{array}$ = $\begin{array}{c} 0 \end{array}$ = $\begin{array}{c} 0 \end{array}$ = 0 \end{array} = $\begin{array}{c} 0 \end{array}$ = 0 \end{array} = $\begin{array}{c} 0 \end{array}$ = \begin{array}{c} 0 \end{array} = 0 \end{array} = 0 \end{array} = $\begin{array}{c} 0 \end{array}$ = \begin{array}{c} 0 \end{array} = 0 \end{array} = 0 \end{array} = 0 \end{array} = $\begin{array}{c} 0 \end{array}$ = 0

Graph of
$$y = a\chi^{2} + b\chi + c$$
 contains
 $(1,3)$, $(-1,9)$, and $(2,6)$.
Use Cramer's rule to Sind a .
 $(1,3) \rightarrow \chi^{z=1}_{z=3} \rightarrow a(1)^{2} + b(1) + c = 3 \rightarrow a + b + c = 3$
 $(-1,9) \rightarrow \chi^{z=4}_{y=6} \rightarrow a(-1)^{2} + b(-1) + c = 9 \rightarrow a - b + c = 9$
 $(2,6) \rightarrow \chi^{z=2}_{y=6} \rightarrow a(2)^{2} + b(2) + c = 6 \rightarrow 4a + 2b + c = 6$
 $a + b + c = 3$
 $a - b + c = 9 \Rightarrow a = \frac{Da}{D}$
 $4a + 2b + c = 6$
 $D_{z} = \begin{bmatrix} 1 & 1 & 1 \\ 1 & -1 & 1 \\ 4 & 2 & 1 \end{bmatrix} = 1\begin{bmatrix} -1 & 1 \\ 2 & 1 \end{bmatrix} - 1\begin{bmatrix} 1 & 1 \\ 4 & 1 \end{bmatrix} + 1\begin{bmatrix} 1 & -1 \\ 4 & 2 \end{bmatrix}$
 $= 1(-1-2) - 1(1-4) + 1(2+4)$
 $D_{a} = \begin{bmatrix} 3 & 1 & 1 \\ 9 & -1 & 1 \\ 6 & 2 & 1 \end{bmatrix} = 3\begin{bmatrix} -1 & 1 \\ 2 & 1 \end{bmatrix} - 1\begin{bmatrix} 9 & 1 \\ 6 & 1 \end{bmatrix} + 1\begin{bmatrix} 9 & -3 \\ 6 & 2 \end{bmatrix}$
 $= 3(-3) - 1(3) + 1(24)$
 $A = \begin{bmatrix} Da \\ D \end{bmatrix} = \frac{-12}{6} = 2 \end{bmatrix}$

I have 10 coinst. Quarters and
Dimes only.
Total Value \$1.60. How many Quarters
do I have?

$$\left\{ Q + D = 10 \\ - 0 \\ 5Q + D = 10 \\ 5Q + D = 10 \\ 5Q + D = 10 \\ 5Q + 2D = 32 \\ - 5 \\ 5Q + 2D = 32 \\ - 5 \\ 5Q + 2D = 32 \\ - 5 \\ 5Q + 2D = 32 \\ - 5 \\ 5Q + 2D = 32 \\ - 5 \\ 5Q + 2D = 32 \\ - 5$$

Class QZ 22
Consider

$$5x + 3y = 7$$
 Use cramer's rule to
 $5x + 2y = 9$ Sind y only. $y = \frac{Dy}{D}$
 $D = \begin{bmatrix} 5 & 3 \\ -1 & 2 \end{bmatrix} = 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 3 \\ -1 & 2 \end{bmatrix} = \begin{bmatrix} 5(2) - (-1)(3) = 10 + 3 = \begin{bmatrix} 5($